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Q1. Trees are absent in the family 

1. Solanaceae 

2. Brassicaceae 

3. Fabaceae 

4. Asteraceae 

Answer: 2 

Q2. In Brassicaceae the flowers are zygomorphic 

1. Brassica 

2. Raphanus 

3. Iberis 

4. Lepidium 

Answer: 3 

Q3. Corolla is cruciform and unguiculate in 

1. Liliaceae 

2. Solanaceae 

3. Asteraceae 

4. Brassicaceae 

Answer: 4 

Q4. In Iberis, zygomorphy is due to 

1. Outer petals 

2. Inner petals 

3. Outer stamens 

4. Inner stamens 

Answer: 1 

Q5. Candytuft is 

1. Iberis 

2. Cheiranthus 

3. Lunaria 

4. Lobularia 

Answer: 1 

Q6. Siliqua fruit is characteristic of family 

1. Poaceae 
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2. Fabaceae 

3. Brassicaceae 

4. Asteraceae 

Answer: 3 

Q7. Family Brassicaceae/cruciferae is characterized by 

1. Marginal placentation 

2. Parietal placentation 

3. Basal placentation 

4. Axile placentation 

Answer: 2 

Q8. Fruit is silicula in 

1. Brassica 

2. Iberis 

3. Capsella bursa-pastoris 

4. Both B and C 

Answer: 4 

Q9. Peculiar feature in the ovary of Brassicaceae is presence of 

1. Parietal placentation 

2. False septum 

3. Bilocular ovary 

4. Both A and B 

Answer: 2 

Q10. In tetradynamous condition the stamens are 

1. 2 short and 2 long 

2. 4 short and 2 long 

3. 4 long and 2 short 

4. 4 long and 4 short 

Answer: 3 


